
令和6年度　鹿児島純心女子短期大学　英語問題（生活学科・英語科　一般選抜Ａ日程）

小計

8 9

B C

10

10

10

D

8 9

A

C

7

7

B

8

C D

7

得　点

4

受験番号           模　範　解　答　　

D

I. 例

C

2 3 61 5

C A C

9II. 1 2 3 4 5

A C D D A

6

6

A

1 2 3 4 5

D B A C C B

IV.

小計

小計

小計

C D B D A D

III.

賛成意⾒の解答例
Companies should allow their workers to wear more casual clothes because they can feel more comfortable while 
working. When employees are comfortable, they may be able to focus better on their tasks, leading to increased 
productivity and efficiency. Allowing casual clothing can reduce the need for expensive uniforms or suits. It can 
also let workers be cooler or warmer, which can reduce energy costs for the company. Dressing casually can also 
encourage workers to express their personal style and individuality, which can boost creativity. This can be an 
attractive thing for people looking for a new job.   (97 words)

反対意⾒の解答例
Companies should not allow their workers to wear more casual clothes because some people may be confused 
about what is acceptable to wear. This could cause problems between workers and may have a negative impact. 
Also, formal clothes, like a suit, may be seen as an important part of a company's professional image. Many people 
could not imagine working as a lawyer or a business manager while wearing casual clothes. Some workers may 
also feel that they need a suit to switch to from home mode to work mode. If they are wearing casual clothes, they
may have trouble working. (100 words)


